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€:E3::) (BT : kg )
PeES i ] ==Y = = 1B Z B fm &
BERXFE 84 |77 88.4 819 100
<t/ 161.3 150 30
JU 40.7 515 131
E=X 274.7 1,600 30
RAAIH LA 121.8 1,740 400
oaoz )8 79.7 1,577 800
VAN 225.1 459 101
>O0F 84.5 469 30
e 58.4 1,593 50
HFHS 88.5 229 20
>0OX/)VUl 58.7 1,640 1,100
AXF 367.7 2,017 1,040
dE>HAN 117.2 161 20
TRIRD 43.2 1,616 30
SFIA 210.1 4,649 780
JdF 106.7 1,400 51
< hOSA 27.5 609 30
ESWYAHZ 127.0 690 292
Y= 173.1 3,600 300
BHE 112 Ry FHA 2,942.4 759 329
2]n 228 E= X 43.2 1,800 669
astyE 5,439.9




[(&£) (BT ¢ kg )
JRETELE =V n = = 18 Z 1B B &
EEXRIFE 84 |5 X 804.3 1,800 800
I5 A 24.5 2,000 300
XAXF 22.5 3,000 1,100
<IF 108.7 1,700 600
#]D 22 E=5X 493.4 2,000 500
ho 18 <73 24.0 2,500 800
BIK 6E 7oE 13.2 16,900 9,400
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1,490.6




